
Science Answer Review
pack
Grade 9

Agenda
Speed (Longman Physics p94-96)

Speed/time graphs (Longman Physics p100-104)
Pressure (Longman physics p110-113)
Respiration (Longman Biology p10-13)

Please complete booklets and bring to your next science class

Additional resources:
http://www.educationquizzes.com/

http://www.scibermonkey.org/level-ks3.html
http://studyjams.scholastic.com/studyjams/jams/science/index.htm

https://www.neok12.com/

https://www.educationquizzes.com/
http://www.scibermonkey.org/level-ks3.html
http://studyjams.scholastic.com/studyjams/jams/science/index.htm
https://www.neok12.com/
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Speed records

To cancel the effect of any prevailing winds and any possible slope in the ground

They are flat and dry

There is greater friction on a boat from water



Describe what is happening in each graph

Increased speed leads to increased friction with water and air resistance.
All the additional power of the engine will not go into increasing its speed;
some of it will be used to overcome the increased resistance tomotion

Interpreting speed-time graphs

Graph A:constant speed of 30 m/s;
Graph B: speed decreases at a constant rate of 1 m/s2;
C speed increases at constant rate of 0.5 m/s2

A 1200 m; B 800 m; C 400 m



The car starts from a standing position. It accelerates at 1 m/s/s for the first 15
seconds.
It then travels at a constant speed of 15 m/s from 15 to 40 seconds.
It then begins to decelerate at 0.75 m/s2 until it stops after 60 s.

During the first 15 seconds the car travelled 112.5 m; between 15 and 40 seconds
the car travelled 375 m; from 40 to 60 seconds the car travelled 150 m. The total
journey was 637.5 m.

The forces on the car were balanced, as the car’s speed was constant.



Using the pressure equation

The pressure on the floor is 600 N / 20 cm2

30 N/cm2 with stilts; and 600 N / 60 cm2

10 N/cm2 with trainers.
Jed’s mum is right because the pressure is much greater when he uses stilts.



a) 130 N/cm2
b) 65 N/cm2

The pressure with snowshoes is 750 N/ (2 x 0.5 m2) = 750 N/m2;
the pressure with skis is 750 N/(2 x 0.15 m2) = 2500 N/m2.
Georgina should therefore wear snowshoes to avoid sinking into the snowdrifts.
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